Run 5271 triggerwise, sums: All
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Run 5271 triggerwise, sums: Beam ON, Laser ON
I — Helicity==0
G000 e
- — Helicity==1
i Endriea: 74483
000
[ Mizan: 133735088 < 36127
A00D 1] Std Dev: S445.9873 45 24 4745
B Envdrias: 74630
3000 :- Mean: 13202.3455 - 345280

2000 f

1000 |

'D:""l""l""l"'

Sed Dwrw: 94325335 45 J4.8150

IIIIIIIIIIIII]_IIl

0 10000 20000 30000 40000 50000 80000

70000 BOOODO

50

40

30

20

10

Run 5271 triggerwise, sums: Beam OFF
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Entriza: 124

Mzan: Z3810.3629 4 BDDEEEY

Std Dew: 55913864 +- 4248418
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Run 5271 triggerwise, sums: Beam ON, Laser OFF
— Helicity==0
— Helicity==1
Eniries: 0

Mean: 000000 +/- Q.000

Sid Drev: L0000 +- 0.0000




